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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1.

sfto o flo F fafimion & v wHo wHo T fo i W@ §E e ¥ anfhE wafy F ferw
HETF 2| 39 HaY § WHR I F0qE At w oo Hifvm (IW 150 w=at # Hifsm)

Faster economic growth requires increased share of the manufacturing sector in
GDP, particularly of MSMEs. Comment on the present policies of the Government in

this regard. (Answer in 150 words)
Wt refemeen 3 fefafeao $i fufy o 37 30 deu § om arclt awensi # whew fif ik
gur % fore gama difsm) (3W 150 W=t # Hifs)
What is the status of digitalization in the Indian economy? Examine the problems
faced in this regard and suggest improvements. (Answer in 150 words)
FN IR F e vd fawoe § §-aedi Rraet 6 fr yER wee sl 27 @@ wwEE

(W 150 wi==t | difsme)
How does e-Technology help farmers in production and marketing of agricultural
produce? Explain it. (Answer in 150 words)
wRA # i GUR % Rl w3 A Fan) sl wwed F sida, g S woafy @ hf
¥4 TH IWE GYR HET S GHal 2, fEew fifm (IW 150 =31 # difsm)

State the objectives and measures of land reforms in India. Discuss how land ceiling
policy on landholding can be considered as an effective reform under economic
criteria. (Answer in 150 words)

FW gfg (To 3go) A EuREn F yimg A o AR Rt Piem #§ A weg Far 27 F 0
MY WA 1 H To o F ITM F Al A Fromn 1 #E wau wegw F@ §7

(IW 150 wr=a1 | i)
Introduce the concept of Artificial Intelligence (Al). How does Al help clinical

diagnosis? Do you perceive any threat to privacy of the individual in the use of
Al in healthcare? (Answer in 150 words)

¥ fafirm wlel ot ==l Fifte e garshid 9 ow @ @ $ua 6 50§ 9 o #§ 7ee = ow §)
(I 150 w3t 7 difs)

Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

=gl 1 faverar g9 Yo Bdt €, T w9 @ 4R 6 iR, e Rumresy stee sk dufy
i JHEE B g1 athl B fawaa & i sl w1 fveww it 92 afd 6 et ¥ 9
are difs) (FW 150 == ¥ Hifsm)

Dam failures are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures.

Give two examples of large dam failures. (Answer in 150 words)
ot W 1 7 WY iRt G ok wa @ #7 wwa 3@ 2w F R B we @ ey
e w9 @ wfrs #7 (IR 150 st & §ifvrg)

What is oil pollution? What are its impacts on the marine ecosystem? In what way is
oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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10.

11.

12.

13.

14,

15.

AqHATG-FHTfe & Seger @ far awe w0 § ‘R ok Ram’ e w& saws wew )
0 Y 8 5 3R R F el gEae F 9 % S § SR g 9 T 39t W =t S
(IW 150 w1 # Hifs)
Winning of ‘Hearts and Minds’ in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the
Government in this respect as part of the conflict resolution in Jammu and
Kashmir. (Answer in 150 words)

i m @ wrgedl g R /Men-aree, 3w i Arefia gar aw (Fo To o) H wew ¥ wdam
ST T g % fow R man #) @ a® A e ¥ R fig . @ sumt w Roph i
(IW 150 w=31 7 <ifvr)
The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders
to ferry arms/ammunitions, drugs, etc., is a serious threat to the internal security.

Comment on the measures being taken to tackle this threat.
(Answer in 150 words)

G § Ho ST SIS W § e #) wra § s e for st T ey @
qligm Fify ik gur & g i) (I 250 w2t & Hifvm)

Most of the unemployment in India is structural in nature. Examine the
methodology adopted to compute unemployment in the country and suggest

improvements. (Answer in 250 words)
T ARl i g s’ % @ s Hifvw) wien svReeo ¥ g0 e
Hofaw F ghiFa adegatar § ¥ TR S Ghar 27 (3| 250 w=2t # i)

Distinguish between ‘care economy’ and ‘monetized economy’. How can care
economy be brought into monetized economy through women empowerment?
(Answer in 250 words)

wﬁﬁ@ﬁmmﬁﬁmﬁ%mﬁﬁ,mﬁmm(mﬁnﬁzﬁ)ﬁ@mﬁiﬁ
e Fife | (I 250 =3t & difom)

Explain the changes in cropping pattern in India in the context of changes in
consumption pattern and marketing conditions. (Answer in 250 words)

AT H FY & e A S AR Yo T swee wtewdl w1 §7 fg =R e (ssge Ao
#lo) M 321 MY FY wiewd Feft qEF H R it (I 250 w=at # Aifsm)
What are the direct and indirect subsidies provided to farm sector in India? Discuss

the issues raised by the World Trade Organization (WTO) in relation to agricultural
subsidies. (Answer in 250 words)

saifig el A e g A 0 @ 9g @} FE I A el T R
A A & iR il qe S Al ) e § 3 T W o R wa §

(I| 250 w=31 # ifem)
The adoption of electric vehicles is rapidly growing worldwide. How do electric

vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)

10

10

15

15

15

15

15

SKYC-G-GST/36 3 [P.T.O.



16.

17.

18.

19.

20.

WRa ¥ e =z e w1 g w0 w0 R Rl s 1w % e d el T B s e
3 7@ w1 9 witE W forn @ I g A i siafe-am A sttt wga Hifs i
fsen arTE SiaRE F3 % SR v Fem F R 3w sftem w1 vl i s efee @
a%a 89U § 9reE R (I 250 w=a1 & difer)

What is the main task of India’s third moon mission which could not be achieved in
its earlier mission? List the countries that have achieved this task. Introduce the
subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre’ at the Vikram Sarabhai Space Centre which contributed to the

successful launch from Sriharikota. (Answer in 250 words)
YR TR ER1 Y R T g iy s s w0 feoet ifig o TR st ® i
SR HEw I Ra H O mEhEt % W fafew) (3W 250 w==t # €ifvm)

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
included in the Ramsar Sites. (Answer in 250 words)

ey TREd W STR-EE e (3 fo o HWo) I firw wyg-w § 2100 T TF AN TH
e 6 gfe F1 g o ) R weEER &9 # v oht q@ I A gEen 1 WE dme
(IW 250 w=d1 § i)

The Intergovernmental Panel on Climate Change (IPCC) has predicted a global sea
level rise of about one metre by AD 2100. What would be its impact in India and the

other countries in the Indian Ocean region? (Answer in 250 words)
W T A ) SR AT i g FhiEt ® §7 W wad W gEEe w9 % g e
Fa gien ol sie wiftE A e sael (I 250 w=at & dif)

What are the internal security challenges being faced by India? Give out the role of
Central Intelligence and Investigative Agencies tasked to counter such threats.
(Answer in 250 words)

WA & s % o % e B o @ e f F0d F g B T e @ s @
e, T @ § o R § @ 2022 # g ‘srdwmar F e w T (We Wo The Ao)’
i ¥ e @ g A it e fifvw (3 250 wea) & )
Give out the major sources of terror funding in India and the efforts being made to
curtail these sources. In the light of this, also discuss the aim and objective of the

‘No Money for Terror (NMFT)’ Conference recently held at New Delhi in November
2022, (Answer in 250 words)
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